This report contains the transfers results.

Contest Name

Ward 8 - Bathgate

Valid Votes

Positions to be Filled

Quota

7,413 4 1,483

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
William Hannah BOYLE	Scottish National Party (SNP)	1,806
Harry CARTMILL	Scottish Labour Party	2,496
Gordon DENT	Alba Party for independence	67
Siobhan FLANNIGAN	Scottish Green Party	281
Charles KENNEDY	Scottish Conservative and Unionist	1,048
John Swanson MACKENZIE	Scottish Liberal Democrats	150
Tony PEARSON	Scottish Labour Party	375
Pauline STAFFORD	Scottish National Party (SNP)	1,190
	Total	7,413

Candidate William Hannah BOYLE Elected with 1,806 votes, being in excess of the quota of 1,483 Candidate Harry CARTMILL Elected with 2,496 votes, being in excess of the quota of 1,483

This report contains the transfers results.

# Stage 2 - Surplus of Harry CARTMILL

1,013.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon DENT	18	0.40584	7.30512
Transfer to Siobhan FLANNIGAN	104	0.40584	42.20736
Transfer to Charles KENNEDY	282	0.40584	114.44688
Transfer to John Swanson MACKENZIE	89	0.40584	36.11976
Transfer to Tony PEARSON	1,578	0.40584	640.41552
Transfer to Pauline STAFFORD	184	0.40584	74.67456
No further preference	241	0.40584	97.80744
Not transferred due to rounding			0.02336
	Total		1,013.00000

This report contains the transfers results.

# Stage 3 - Surplus of William Hannah BOYLE

323.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon DENT	49	0.17884	8.76316
Transfer to Siobhan FLANNIGAN	154	0.17884	27.54136
Transfer to Charles KENNEDY	27	0.17884	4.82868
Transfer to John Swanson MACKENZIE	30	0.17884	5.36520
Transfer to Tony PEARSON	45	0.17884	8.04780
Transfer to Pauline STAFFORD	1,356	0.17884	242.50704
No further preference	145	0.17884	25.93180
Not transferred due to rounding			0.01496
	Total		323.00000

This report contains the transfers results.

# Stage 4 - Surplus of Pauline STAFFORD

24.18160

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon DENT	90	0.01604	1.44360
Transfer to Siobhan FLANNIGAN	519	0.01604	8.32476
Transfer to Tony PEARSON	132	0.01604	2.11728
Transfer to Gordon DENT	4	0.00651	0.02604
Transfer to Siobhan FLANNIGAN	22	0.00651	0.14322
Transfer to Tony PEARSON	68	0.00651	0.44268
Transfer to Gordon DENT	139	0.00286	0.39754
Transfer to Siobhan FLANNIGAN	412	0.00286	1.17832
Transfer to Tony PEARSON	186	0.00286	0.53196
No further preference	401	0.01604	6.43204
No further preference	80	0.00651	0.52080
No further preference	566	0.00286	1.61876
Not transferred due to rounding			0.01800
	Total		24.18160

This report contains the transfers results.

## Stage 5 - Exclusion of Gordon DENT

84.93546

84.93546

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Siobhan FLANNIGAN	25	1.00000	25.00000
Transfer to Charles KENNEDY	6	1.00000	6.00000
Transfer to John Swanson MACKENZIE	2	1.00000	2.00000
Transfer to Tony PEARSON	5	1.00000	5.00000
Transfer to Siobhan FLANNIGAN	4	0.40584	1.62336
Transfer to Charles KENNEDY	1	0.40584	0.40584
Transfer to John Swanson MACKENZIE	1	0.40584	0.40584
Transfer to Tony PEARSON	5	0.40584	2.02920
Transfer to Siobhan FLANNIGAN	24	0.17884	4.29216
Transfer to Charles KENNEDY	1	0.17884	0.17884
Transfer to John Swanson MACKENZIE	2	0.17884	0.35768
Transfer to Tony PEARSON	3	0.17884	0.53652
Transfer to Siobhan FLANNIGAN	46	0.01604	0.73784
Transfer to John Swanson MACKENZIE	5	0.01604	0.08020
Transfer to Tony PEARSON	6	0.01604	0.09624
Transfer to Siobhan FLANNIGAN	1	0.00651	0.00651
Transfer to Tony PEARSON	2	0.00651	0.01302
Transfer to Siobhan FLANNIGAN	56	0.00286	0.16016
Transfer to Charles KENNEDY	1	0.00286	0.00286
Transfer to John Swanson MACKENZIE	5	0.00286	0.01430
Transfer to Tony PEARSON	11	0.00286	0.03146
No further preference	29	1.00000	29.00000
No further preference	7	0.40584	2.84088
No further preference	19	0.17884	3.39796
No further preference	33	0.01604	0.52932
No further preference	1	0.00651	0.00651
No further preference	66	0.00286	0.18876
Not transferred due to rounding			0.00000

Total

 $Report\ Name:\ Transfers\_V0001\_Ward-8---Bathgate\_06052022\_160208.pdf\ Created:\ 06-5-2022\ 16:02:08$ 

This report contains the transfers results.

## Stage 6 - Exclusion of John Swanson MACKENZIE

195.04640

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Siobhan FLANNIGAN	28	1.00000	28.00000
Transfer to Charles KENNEDY	31	1.00000	31.00000
Transfer to Tony PEARSON	39	1.00000	39.00000
Transfer to Siobhan FLANNIGAN	8	0.40584	3.24672
Transfer to Charles KENNEDY	6	0.40584	2.43504
Transfer to Tony PEARSON	47	0.40584	19.07448
Transfer to Siobhan FLANNIGAN	6	0.17884	1.07304
Transfer to Charles KENNEDY	4	0.17884	0.71536
Transfer to Tony PEARSON	6	0.17884	1.07304
Transfer to Siobhan FLANNIGAN	15	0.01604	0.24060
Transfer to Charles KENNEDY	3	0.01604	0.04812
Transfer to Tony PEARSON	4	0.01604	0.06416
Transfer to Siobhan FLANNIGAN	2	0.00651	0.01302
Transfer to Siobhan FLANNIGAN	9	0.00286	0.02574
Transfer to Tony PEARSON	11	0.00286	0.03146
No further preference	54	1.00000	54.00000
No further preference	29	0.40584	11.76936
No further preference	16	0.17884	2.86144
No further preference	18	0.01604	0.28872
No further preference	4	0.00651	0.02604
No further preference	21	0.00286	0.06006
Not transferred due to rounding			0.00000

Total 195.04640

This report contains the transfers results.

## Stage 7 - Exclusion of Siobhan FLANNIGAN

424.81417

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Charles KENNEDY	22	1.00000	22.00000
Transfer to Tony PEARSON	120	1.00000	120.00000
Transfer to Charles KENNEDY	10	0.40584	4.05840
Transfer to Tony PEARSON	49	0.40584	19.88616
Transfer to Charles KENNEDY	8	0.17884	1.43072
Transfer to Tony PEARSON	54	0.17884	9.65736
Transfer to Charles KENNEDY	14	0.01604	0.22456
Transfer to Tony PEARSON	159	0.01604	2.55036
Transfer to Tony PEARSON	8	0.00651	0.05208
Transfer to Charles KENNEDY	11	0.00286	0.03146
Transfer to Tony PEARSON	130	0.00286	0.37180
No further preference	192	1.00000	192.00000
No further preference	57	0.40584	23.13288
No further preference	122	0.17884	21.81848
No further preference	407	0.01604	6.52828
No further preference	17	0.00651	0.11067
No further preference	336	0.00286	0.96096
Not transferred due to rounding			0.00000
	Tatal		404.04.447

Total 424.81417

This report contains the transfers results.

## Stage 8 - Exclusion of Charles KENNEDY

1,236.08994

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Tony PEARSON	455	1.00000	455.00000
Transfer to Tony PEARSON	171	0.40584	69.39864
Transfer to Tony PEARSON	18	0.17884	3.21912
Transfer to Tony PEARSON	18	0.01604	0.28872
Transfer to Tony PEARSON	1	0.00651	0.00651
Transfer to Tony PEARSON	17	0.00286	0.04862
No further preference	652	1.00000	652.00000
No further preference	128	0.40584	51.94752
No further preference	22	0.17884	3.93448
No further preference	12	0.01604	0.19248
No further preference	3	0.00651	0.01953
No further preference	12	0.00286	0.03432
Not transferred due to rounding			0.00000
		·	4 000 00004